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Instructions for Candidates

1. Write your Roll No..on the top immediately on receipt of this question paper.

2.  Question No. 1 is compulsory.

3. Attempt any four questions out of question 2 to 7.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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Answer any five parts : (3x5)

(i) Do you agree that for a monopoly firm, price is equal to its marginal revenue ?
Explain why or why not.

(i) ‘When an increase in the price of one good causes the demand for another
good to fall, then both goods are substitute for each other.’ Is this statement
true or false ? Explain.
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(i) Explain why economists usually oppose price controls.
(iv) Why do not two indifference curves intersect each other ?

(v) “A tax that has no deadweight loss cannot raise any revenue for the
government.” Do you agree or not ? Explain why or why not.

(vi) Explain the relationship between the slope of a demand curve and its price
elasticity.
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2. (1 Why does inefficiency occur in an economy when property rights are either
ill defined or are restricted ? Explain using examples. (5)

(i) Explain using diagrams, how the impact of imposing the tax on cigarettes will
be different from creating awareness about its harmful effects. (6)

() What does a production possibility curve represent ? Why is it bowed
outward ? “)
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3. (1) Using demand and supply analysis show the impact of rise in milk prices on
the equilibrium price and quantity of cream cheese. If the government does
not allow the price of cream cheese to change what problems are likely to
arise ? (5)

(i) The demand curve for candy bars can be expressed as P =40-0.2Q,
where P is the price of candy bars measured in Rs. per bar and Q is quantity
demanded. If at equilibrium, the candy bars are sold for Rs. 20 each what
is the price elasticity of demand at this point ? (5)

(i) Explain using suitable diagrams why OPEC failed to keep the price of oil
high in the long run ? (5)
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4. (1) Suppose a consumer whose income is Rs. 1000 buys two goods X and Y
costing Rs. 20 and Rs. 40 per unit respectively. If income and all prices
double. Show what will be the change in the budget line and the consumer
equilibrium. (5)

(i) How does the income and substitution effect explain the effect of fall in
wages on the hours-worked ? What does the labour supply look like if the
income effect dominates the substitution effect 2 What would be its shape if
the substitution effect dominates the income effect ? (7)
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(i) Why are all Giffen goods inferior but all inferior goods are not Giffen
g
goods ? (3)
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5. () Assuming that the ice cream industry is perfectly competitive. A firm in the
industry produces 10,000 ice cream cups per year. The average total cost
of each ice cream cup is Rs. 4. Each Ice cream cup sells for Rs. 8. What
is firm’s marginal cost ? What is the profit or loss a firm earns ? Is the firm
in long run equilibrium ? Why or why not ? (6)

(i) Show that the long run average cost (LRAC) curve of a firm is the lower
envelop of short run average cost (SRAC) curves. Why does the LRAC
curve not touch the minimum point of all the SRAC curves ? Under what
conditions can this happen ? @)

(ii1) What is sunk cost ? Give an example.- (2)
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6. () Explain the deadweight loss of a monopolist with the help of a diagram. Will
perfect price discrimination by a monopolist increase total welfare in the
economy ? What will happen to consumer surplus and producer surplus ?
Explain. ®)

(i) A man is earning Rs. 5,00,000 per annum. He is considering to open a small
restaurant of his own. He estimates the following annual costs: Rent of the
premises — Rs. 80,000, equipments — Rs. 2,80,000 and raw material
Rs. 1,50,000. He estimates to earn Rs. 10,00,000. Should this man open
the restaurant or not ? Explain using the concept of economic profit and
accounting profit. ) (5

(i) What is marginal rate of substitution between two perfectly substitutable
p y
goods ? )
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7. (i) Explain why the value of marginal product of labour (VMPL) curve is the

demand curve for labour when there is perfect competition in commodity
and factor markets ? “)

(i) If the minimum wage is above the equilibrium wage in a competitive
labour market what effect will this have on employment ? Show using a
diagram. (5)

(iii) Suppose labour is the only input used by a perfectly competitive firm. Whose
production function is as follows :
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Units of labour : 0 1 2 3 4 5 6
Total Product : 0 5 9 12 14 15 15

(a) Calculate the marginal product of each additional worker.

(b) Each unit of output sells for Rs. 5. Calculate the value of marginal
product of each worker.

(c) Con'ipute the demand schedule showing the number of workers hired
for wages of Rs. 0, 10, 20 and 30. '

(d) What happens to this demand curve if the price of output rises from
Rs. 5 to Rs. 10 per unit ? ©6)
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